
Osnovi elektronike – Odsek SI  Januar 2015. 

 

 

REŠENJA ZADATAKA 
 

1.  
4.2]V[2]V[ +−= GI vv , za V2.1V5.4 −≤≤− Gv  (IOP- lin. režim, 1D -OFF, 2D -ON); 

]V[4]V[ GI vv −= , za V2.1V2.1 ≤≤− Gv  (IOP-lin. režim, 1D -OFF, 2D -OFF); 

4.2]V[2]V[ −−= GI vv , za V5.4V2.1 ≤≤ Gv  (IOP-lin. režim, 1D -ON, 2D -OFF); 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
3. a) 2mA=EI , 19,8=BI µA, 1,98mA=CI , 6V,0−=EV , 6,04V=CV . 

b) 2475,0/ == gpi iia . 

c) Ω= 262,6ulR , Ω= 2kizlR . 

 
 
 
5. a) 4mA1 =I ; 8mA3 =I  

b) 2

1 mA/V8=B  
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